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If the greatest divisor of 30.522 + 42°%is p ¥ » = ¥ and that of 27— 6n -2 is
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If a. b. c are real numbers such that a — b= 1. b — ¢ = 3. then the number of matrices
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ofthe form A=| ¢ » ¢ | suchthat |A|=-12. 15
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For what values of ‘a’, the system of equations x + y+z=1 2x + 3y + 2z = 2,

ax + ay + 2az =4 will have a unique solution?
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If = is a complex number such that |z +4|> 3 . then the smallest value of |z+3| 1s
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The real part of a z that satisfies jz* + | S
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Z(xzd 2x II)

If x 1s real. then the interval in which no value of the expression 5 lies. 18
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The set of all real values of x satisfying the inequalities x2 —4x + 3 > 0 and
—2x—8<0.1s
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If the roots o, B. y of the equation x3 — 6x2 + px + 10 = 0 are in arithmetic

progression, then o+ B3+ 3 =

= : ‘ =
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a. B.y are the roots of the cubic equation x3 + p,x2 + p,x + p, = 0.
IfS, =a"+p"+v", §;,=10.S,=38 and S; =-1840, then p, =
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The number of 4 letter pernfurations formed with English alphabet such that the
number of distinct vowel$ 1s, equal to the number of distinct consonants. when
repetition is allowed. 1s
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A student is asked to answer 10 out of 13 questions in an examination such that he
must answer atleast four questions from the first five questions. The number of

choices available to him is
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If the 17™ and thr: 18™ terms in the expansion of (2 + @)% are equal. then the

coefficient of x3° in the expansion of (a +x)7 is

=
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If the angles of depression of the top\aad bottom of a short building from the top of a

tall building are 30° and 60° respégtively. then the ratio of the heights of short and
tall buildings 1s
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5 RS

cosl8®

Options:

1o

1
—i— 5+ «.E
22
2.
V51
4
=,
V5 +1
4
4

Question Number : 22 Question Id : 7512364662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If A+ B+ C=mn. then sinA — smB + sinC =

—

sinA —sinB +sinC=cFA+B+C=n_~

Options:

(3)(3)=(3)
4 cos| — |cos| — | cos| —
2 2 2
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For ne 7 .the general solution of the trigonome uation

sinX —+v/3cosx +4sin2x — 4\ﬁcn32x +sin3x — Jég}x =01is

O

= s+ trigonometric equation o L 7€ 7
K y’( ,;_*_E-:,J’”J;;: )JP(‘L, g sin@% cosx + 4sin 2x — 4~/3 cos 2x + sin 3x — /3 cos3x = 0
Options: %
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Fora > 0. if flx)=ax + b 1is an onto function form [—1. 1] to [0. 2], then

cot| Tan™ l +Tan™ l +Tan™ I— =
7 8 5

/*"' i;T
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The solution of the equation 2¢osh2x+10sinh2x=5 15
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In a triangle ABC, if a®> — b*>— ¢? = be(A*>— 2A — 1), then

=
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Options:
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If a and b respectively represent the lengths of a side and a diagonal of a regular
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In a right angled triangle. if the difference betiwebn the two acute angles is 60°, then
the ratio of the lengths of the hypotenuseaxd the perpendicular drawn to the
hypotenuse from its opposite vertex is
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If the position vectors of the points A. B, C. D given by 7 +2 +3k, 27 —j +2k,
i(?f_ +157 +15k ) and lg[?}" +27 +(5+3a) E] respectively are such that ‘E‘ = ]ﬁl .

then 16(3a — 1)*> =
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If the points 2a+3h - ¢, @ —2b + 3¢, 3a@ + Ab —2¢ and & - 6b + 6¢ are coplanar, then

the direction cosines of the vector A7 —247 + k are

AT =247 +k 3t (coplanar)@ - 6b +6¢ st 2a+3b —c, a—2b +3¢,3a+Ab - 2¢ 56/
Lt (cosines)S _
Options:
2 4 1
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If L, is a line through the point 57 +8; +11k and parallel to the vector 27 + 37 + 4k and
L, is a line through the point 47 +6; +8 and parallelsto the vector 37 +4; + 5k . then
the point of intersection of L, and L, is

3

L L] L, ;J'.L;.JJFF"S. o +3] +4k Prulblpie ST 48T +11k bR B L, /

L1

=
| b

I TOLEL, sl Ly e SN 37 +47 +5k fonle tiie a7 +67 +8k

Options:
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d=4i +3j and b are two vectors in the XOY plane and @ is perpendicular to 5 . A
vector¢ lying in the same plane and having projections 1 and 2 respectivelyong and p
1S

:?Biv:lf"E Pz S0 ,+;rf a2 b = A,.. b sl a=4i +3] L5 XOY
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If 0A =67 +37 —4k.OB=27 +k,0C=5i —j + 2k are the coterminous edges of a
parallelepiped. then the height of the parallelepiped drawn from the vertex A is

L (parallelepeiped)l s=1$i15L | OA =67 +37 —4k. OB =27 +%.0C =57 —  +2k /
q.di t,;'fd' b (palalleleplped}u;ﬁﬂ’l;ufy’ f_ﬂ o Le,u & (coterminous) N
Options:
85
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The shortest distance between the lines7 = (—27 + j —k ) +#{R7 +3j —k ) and
= [T—I;_'+ 2?)+ k(—?+’2f+4ﬁ_-) 1s
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The mean deviation from the median of the data 16. 22. 3. 14. 5. 10. 8. 6. 11. 4 1s

x| (mean dev:iation)._.i[,?;I_hf-:!:;.(nledian),jzﬂi 16,22,3,14,5,10,8, 6, 11,4 {15
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The variance of the following frequency distribation 1s

o
al F

-3 (variance)J#5 Sar U3

Class Interval 0-4 | 4-8 8-12 | 12-16 | 16-20
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,P(E,)=~ thenE, and E,

b | —

SingleLine Queﬂibn Option : No Option Orientation : Vertical
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2o P(Bi)="

OOIJI

If two events E,, E, are such that P(E, VE,)=
{

are
,/
-\ L,,f () IEZ J'IEII-'lJ’h*"./

-! E;, # Ejof P(E, UE, )=

Options:
independent events

mutually exclusive events

exhaustive events

not independent events

Question Number : 38 Question Id : 7512364678 Question Type: MCQ Option Shuffling: Yes Display Question Number

Single Line Question Option : No Option Orientation : Vertical
If a die is rolled twice and the sum of the numbers appearing on them is observed to
Lok U665 Bl sy by JIn UWA 2 pns I L1/
v Kl

e

be 6. then the probability that the number 1 appears atleast once on them is
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An examination 1s attempted by 5.000 graduates, Z.000 post-graduates and 1.000

doctorate holders. The probabilities that asgradaate, a post graduate and a doctorate
Y
4 5

passed the examination. then the piébability that he is a post-graduate is

|

holder will pass the examination are respectively. If one of the examinee

> Y &

e EL S gt 2o F151000 sl £/ ey 2000 2 £/ 5000 I
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Options:
45
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The probability distribution of a discrete random variable X is given below.
If E(X?)= ZIZP(X =x), then 6 E(X?) - Var(X) =

lc;|_x - A Lrvl...,U
g6 E{xﬂy —Var(X) =

X=x —1 0 | / 2
PX=x)| 1 1 4 1
3 6 & 3
Options:
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If X is a Poisson variable representing number of successes in 50 trials such that
2P(X =1)=5P(X =5) + 2P(X = 3) then the probability of getting success in one trial
18
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,':fLJ , "hv LAS f::'p ; 'v‘Lféfw...fu f ;750 JZ.L_'-;:;&(PDiSSGIl)QE...g' X7
ia’xgél{i./'u"‘gb@ybﬁ_ﬁ{_.,,fJL;T_,E"I} 2PX=1)=5P(X=5)+2P(X=3)
Options:
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Question Number : 42 Question Id : 7512364682 QuestigaLvpe: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientations: V@/tical

1
Let lim(1+5¢)' =K and X be thg-random variable representing number of succusses in

f—=1

100 independent trials. If the probability of success in each trial 1s 0.05, then the

probability of getting at least one success 1s

Ure U el £ ToT100 2 Ze oK sle lim(1+5) =K S/PP
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3.
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If the origin is shifted to a point (4. k) by translation @©f axes in order to make the

equation x* +5xy+2y° +5x+6y+7=0 free from firgtotyler terms. then

V If | 4 in-n e "J E*:; B # |'f'r’ L - |-‘ )‘f ';;
Ot O x +5xy+2y7 +5x+6y+7=0 J A NS 2(h. k). L22 /3L G 40 A

Options:
h:—E, afc:E
17 17
1.
B A8 AR
17 17
2.
10
h=-— k= >
17 17
=3
10 . 13
17 17
4
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Suppose a line makes an angle of 120° with the positive direction of X-axis. If the
length of the perpendicular from origin to that line is 4. then the equation of the line
18

UJQ:}’LJ‘L‘»J!L JL J .._.L;lf.«:«l;Ell’?{]G.ﬁ’L r_....uf..:.-fﬂ_,,;f\l-?..,tl AP
;MV;H

Options:

—ﬁx+;':8

1

\.-"EI + V= 8
2

Br—y=8
3

J3x+ p=-8
4

Question Number : 45 Question Id : 7512364685..Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Oriertatien : Vertical

Two straight lines are drawn ‘through the point (0. 2) such that the length of the
perpendiculars from the point (4. 4) to these lines are each equal to 2 units. The
equation of the line joining the feet of these perpendiculars is

QS L e Ut Ut bl (4. 4) LG L;:r'__ LA b e (0, 2) 55
= :?‘fl--rlw‘i_,,h?’r I‘_-J}?!;J"”adg-h}!“}rdl-_-—-f!' 2
Options:
y+x=35
1.
2y +3x=28



y=—x="10)
y+2x=10

Question Number : 46 Question Id : 7512364686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two points A (—a. 0) and B (a. 0) are given. If C is a variable point lving on one side
of the line AB such that |CAB - |CBA =« . where o is a positive constant. then. locus
of the point C is

i =

Syl AU e LI 3 ABRe 527 LC /) gt &y B (a, 0) 1 A (—a, 0) b

* - - -

-

gx(locus)P -6 CH e b SAaHo UL U [CAB — [CBA =«
Options:

a*+x%+y%+ 2xy cota=0

1

a® —x?+y%+ 2xy cota =0
2

a?—x2—12 + 2xy tana =0
3.

a2 —x2+y2+ 2xy tana =0
4
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If the angle between the pair of lines x* + 2424y + kv? = 0, k > 0 is 45°, then the area
(in square units) of the triangle formed by the pair of bisectors of angles between the

given lines and the linex+2y+1=01s

_" W

Blb Pl sl sInd5°, n,fwv 2 inl b k>0 0 X222+t =0/

(U uRE IR L bE o 2l LBl Ugsidend x+ 2y +1=0

Options:

1

3
1.

1
2

2

3
3

2
4

Question Number : 48 Question Id : 7512364688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If d 1s the distance between the point of intersection of the lines
¥+ 4xy + g2 — 4x — 10y + 3 = 0 and the origin and p is the product of the
perpendicular distances from the origin to these lines. then d — 20p? =

et p sla d Ik "Lvtr 119 u.rff’p,b;,f_ X2 +4xy+h?—4x—- 10y +3=0 L)

@2 — 20p? = I F UGl b

Options:

8



Question Number : 49 Question Id : 7512364689 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A line meets the coordinate axes at A and B. If the perpendicular distances from A
and B to the tangent drawn at the origin to the circumcircle of AOAB are m and »
respectively. then the diameter of that circle is

rT Y i o 4 T
LU £ b (tangent) J We BulAy J/K <k e BuslAy PSR SN ot

LR
-

R o & | e L l-lj
B A s m oS LB b §F AOAB
Options:

m4n

-5
=

3(m+n)
4

m-+n

2(m +n)

Question Number : 50 Question Id : 7512364690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The centre of the circle passing through the point (0. 1) and touching the curve y = x2

at (2.4)1s
i S /Y y=2 U0 ) Ene e (0, 1) 5277600
Options:
16 53
5710
1
(2.3
< A
Z q

[—16 53)
510

4 @E
Question Number : 51 Question Id : 75123 guestion Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
If the number of common tangents to the pair of circles x2 +12 - 2x + 4y -4 =0 and
¥ +12 +4x — 4y + o = 0 is 4 then the least integral value of o is
S X2+ HAx—Ay+a=0 » X2+ -2 +4y—-4=0/
o558 @ dn

- c -
M Uru# L‘)L_,{!"' L j}:: -

Options:

4

N



e |

Question Number : 52 Question Id : 7512364692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of a circle of radius 5 units touching another circle
x2+32-2x—4y-20=0at (5.5) is

Sx2+92—2x— 4y —20=0 bkl (5. S)An e ilade Fad_ts B3 _sdityS

Options:

x2+y2+18x+ 16y—220=0

1
x>+ —x—-y—-40=0
z
x> +9p2+2x -3y -45=0
3
x2+32 — 18x— 16y +120=0
4

Question Number : 53 Question Id : 7512364693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of a circle concentric with the circle x2 + 32 — 6x + 12y + 15 =0 and
having area that is twice the area of the given circle is

~
B

A w g e s 2 2 ¥ # | [ . ;
LN sl e e XE Yy -6+ 12y + 15 =0 SonV el rh
cene e hé né s

E -

Options:



x2+yp2—6x+12y—15=0

1

x2+ 32 —~6x +12y=30=0
5.

x> +32—6x+12y—-60=0
Z.

x?+y?—6x+12y+15=0
4

Question Number : 54 Question Id : 7512364694 Question Type: MCQ Option Saufflizg : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the locus of a point which divides a chord witll siope 2 of the parabola 12 = 4x.

mternally in the ratio 1:3 1s a parabola. then if§ Wertex is

-

- & | & b .; [ o i a3 - . --“r-';;
3wl Pk ls2 o Mg add l.'.::“f,ﬁgrz =4x L0 IN e 1F;,§..._J:l|’b»E’,b,ﬂi_: /)

b \ * o]

-
G,

_Ew I,.f (vertex) L g

B o
4’ 16
53)
16 4



Question Number : 55 Question Id : 7512364695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the normal at one end of the latus rectum of the parabola y2 = 16x meets the X-axis
at the point P, then the length of the chord passing through P and perpendicular to the
normal 1s

=

bl -
’ | ” . = - - koo ot e .
;_,I',':L;,llr_.l,*.-_.;,h;_ P L;?-‘._,:I‘L-J.'!;X s ,E#'PVJLE/-'._./...*'L Al yo=16x V413

Options:

482

1.
322
=z,
242
=,
2042
4.

Question Number : 56 Question Id : 7512364696 Quexion Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orien{atian : Vertical



Assertion (A) : If the tangent and normal to the ellipse 9x% + 1612 = 144 at the point
P[%J on it meet the major axis in Q and R respectively. then QR =g
5 =3

Reason (R) : If the tangent and normal to the ellipse = it %2— =1 at the point P(6) on
2

1t meet the major axis in Q and R respectively. then

S .
QR:H sin“@—bh"cos” @
acost
RJ!'Q-—_-—»;._';JLM{;_;”;JL;;.{ P(%J Li9x2+ 1612 = 1445558l S WK S8 5 { (A)SH

7
QR—SE -f-_—t'L?V&-JJ?i_-JL,r:

2 2

.-*_..f{.;.RijQ...-g"/"J‘LM{JU_H.;_ £;+ -‘}-)T = P(B)ﬂa}@rw{g’u b} ) ' [R}u-}
z & an. bn— ¥

a’ sin® 6 — b}q@\ﬁ,

»_.r:...;.t'L?LIL.J;’
aﬁqﬁv ‘ i =.

The correct answer 1s C)Q/
P KO @

Options:

Both (A) and (R) are true %is the correct explanation of (A).
S rernd (A) {léw Cu:’y(R)ﬁf(A)

QR =

Both (A) and (R) are true but (R) 1s ucrt the correct explanation of (A).
e Her bz (A) (Rt BN
2
(A) 1s true but (R) 1s false.
o A
e HR)F T (A)



{i‘x} is false but (R) 1s true.

Question Number : 57 Question Id : 7512364697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifx+y+n=0,n>0isanormal to the ellipse x> + 3y’ =3 and x + my+3=0,m< 0
is a tangent to the ellipse x* + 5y% = 5, then the point of intersection of these two lines

satisty the equation

- i 2 '} - . .

X+my+3=0,m<0 sl s LIEx2 + 3y? =3(ellipse) /1 /5s%x +y+n=0,n>0/
F |"r o . % - n-:: A

Jf- ;_::.flﬁwufja.;_ﬂl_f Skl C’,,b Pl SIS X2 + 52 = 5 1550

--1—-|Ip-.-'
.

Options:
:
xl F_
64 25
1.

o
2
x“=—y+l
3
=
b | —_
y-=-25x+13
4,

Question Number : 58 Question Id : 7512364698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The product of lengths of the perpendiculars from any point of the hyperbola x2—12=8
to its asymptotes 1s

(R - o5 - - ot & S o
Skl WUl 18E sk (asymptotes) - LM..J;_,E;.JZ;’ f'{;_: L x2—y>=8 14 £



Options:

2

1.
3

2]

4
3

8
4,

Question Number : 59 Question Id : 7512364699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a triangle ABC with two vertices A(5. 4. 6) and B(ih—¥ 3) has its centroid at

10 11 ; 2
( - 2. - ] then the third vertex C 1s

3
SO, [':’ ) .'j"J oS P 6 BA(C)Y3) 441 AGS. 4, 6) UL ABC &ds (1]
) ) e/ C
Options:
4.2.3)
1.
)
2.
4.3.2)
3.
(2.4, 3)
4.

Question Number : 60 Question Id : 7512364700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Let ABC be a triangle with A (e. 5. £). B(=2. 1. 6) and C (1. 0. —3) as 1its vertices. If
the median through B is equally inclined to the coordinate axes. then ¢+ =

B fl.3C(1,0,-3) 4 B(<2. 1. 6) <A (a. 5. B) Sl e o fIABC 1S P

-

o - - * |'-’ P ! ol » l|-|’.
bxll a+pB = :’x!ﬁbﬁi{ﬂf’d:v._:/l’u;ﬁ.b;Q,ulr,xlwulh;.u

Options:

10
1

12

2

14
3

16
4,

Question Number : 61 Question Id : 7512364701 Questiga Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation, Vigvitical

The equation of the plane in cartesidn form. which 1s at a distance of T from the

—_

origin and its normal vector’ dtawn from the origin being 2 — 37 + 4k . 1S

= > I - 6 o s - 'f
Lt e ME e 1268 T « SadnftF5ban déss

-2 37+ Ak

Options:

2x —3y+4dz=
1.

2x+3y—4=



x—3y+4:=6

2x+3y+4z=-6
4.

Question Number : 62 Question Id : 7512364702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

]
. (sinh2x )t
lm| —— =
x=0) x
Options:
0
1.
]
e’
2.
2
{;,3
=]
4
(33
4.

Question Number : 63 Question Id : 7512364703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If the function /:R— R defined by  f(x)=15, for x=0

1s continuous atx = 0. thena + b =

o 5[
F(x)=1b . Lswmg FHKSROR P

Options: (L
2

Question Number : 64 Question Id : 7512364704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If f(x) =Cﬁsh'l[l-x] is well defined, then f'(x) =

1+ x

X

£'(x) = $e YT e S0 f(x)=Cosh™ G:’") A

Options:



1
(I+.r)‘/;
—1
(I+x)w/.;

o
(1+x)v=x Q\’

4 &(1/

Question Number : 65 Question Id : 7512364705 Question Type/. Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Ver&



Match the items of List - I with those of List - IT

List -1 List-1I
A)  If y=|+|x—2 then, atx=2 & = i 2
dx
B) If f{x)= |c032.r| then f [E +] = 1I) 0
(Y If f(x)=sinz[x] where [x] is the ol =2
greatest integer function. then /' (1-)=
D) If f(x)=logjx—1]. x#1 then ¢’ [%) = IV)  does not exist

qé,iﬁ;_]l .:w/;;f}j O
M. =rf Q'\’ I o auid
2 d L S W oy=+e-2 (A

0 I &’[?J: s f(0)=leos2x| /i (B

=2 {Id f(1-)= E@&:;fﬁ;[ﬂvﬂp&ﬁ f(x)=sinx[x] A (C
...J';ﬂf (IV % ¥

The correct matching 1s

J:}}{ f(x}=|{)g[x—l‘,x¢l fi (D

I | =

]
ey ] A D)
9

Options:

iN

A B C D
I Iv. 1I III

A B L D
Iy I 1 I

A B
IV 1 I

)
H O



IV 1 IT III

Question Number : 66 Question Id : 7512364706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. dy 2 . d°x
If £=4 and 4 2 _ _3 at a point P on the curve y = f{x), then —j =
ax de d.}" P
7 ’x d*v dy s r"f";
b | — =y Um —==-3 A = =4 /P,bnlr_.r =) L9
dv” ), dx dx
Options:
0
1.
=
4
2.
3
16
3.
£
64
4,

Question Number : 67 Question Id : 7512364707 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The approximate value of Tan—1(0.999) (upto 4 decimal places) is

o

.......... (-L"-Llw‘u;lrf' 4 ) .JJ-HL;:-;'J Tan™ {“999}
Options:

0.7852



0.7102

2
0.8124
=%
0.7526
4

Question Number : 68 Question Id : 7512364708 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the normal to the curve y = fix) at (1, 2) makes an angle 3% with positive X-axis,

then f’(l]=
N i - e L o - -J_-:*F'
()= f‘¢+rt;fsij€3%ﬁLfL.;-,5 Xl U B2 (1, 2) y=fix) 5/
Options:
0
1
1
2
2
=
3
4.

Question Number : 69 Question Id : 7512364709 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of real roots of the equation ¢ +logx+x-2=0,x#0 , is

-

5 ":.E.;’,"" f
Jl#"-""lk.:h./l!-"/i'f"s"';' &F ]+I(}gx+x—2=[},x;¢0 oL P

Options:



1.
1
2
2
3.
3
4

Question Number : 70 Question Id : 7512364710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical q

Let D —=[R,DSR,eeD andr be a non zero realnuiber. Consider the following

statements: %

1. c 1s an extreme point of f = cisane e point of rf

1. c 1s an extreme point of f = ¢ is ab me point of r +f

- ~3 w
:V:JJELLQE".VEEEJ};’;.J% el T « DER ¢ I R 7
u‘ 1 g = i - u' i ~ .
rf.;.,..!dexl...Uc(f:} < LI ¢ (1

& br+f._..bﬂdbf._.»lc{f:>._.£5}& Al ¢ (11

H

Which of the following is correct?

f

"'—"L/"“U JUJ*

Options:

Only (1) 1s true

<
,._.f‘; (i) <4~

0[11}! fii} Is true
,_'-u (11} 37



Both (1) and (11) are true

-
= ‘ & a a
ﬂ,,:.'f;u.ﬂ_}{n} 21 (1)
2,
Neither (1) nor (i1) 18 true
= =
:I e - 5‘“ c -
2 {5 (iJenleC ()=
4,

Question Number : 71 Question Id : 7512364711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

dx
I{]-I—I}JS-F—?I—IE

Options:
2 |8B—=x
-= +e
OVI1+x
1.
1 [1+x
—— +c
9VE—x
2.
2 1+x
—— +':.'|l
OVEB—x
=t
2 [8+x
- +¢
ONI+x
4.

Question Number : 72 Question Id : 7512364712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



J‘Xs +2x
x*+4

Options:

, %3
9

Question Number : 73 Question Id : 7512364712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

|

Options:

1+ xe*
x+1

log +c

Xe’

14+ xe*

log He




X’

|+ ¢

log 2
x+e

Question Number : 74 Question Id : 7512364714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

J-SECS X dx =

Options: O
| Q\'

-q
Ebtcxlan x+ S tan.x + — [Iug sec.x + tan.r)f\/

I 5 3
Etan-“xsec X+ gsec.‘r tan x + ?og[sea@enx] +c

- 3
—sec” xtanx +—secxtanx &ﬂg (secx+tanx)+c
4 8 4

| 20kl 3 .
;iscc xtan® x+ E-sccxtanﬁ Hlog(sccx+ tanx)+c¢

Question Number : 75 Question Id : 7512364715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

r
%
J" cot’ xdx =
i
4

Options:



24 2

l
—+2log?2
g

O
| S

Question Number : 76 Question Id : 7512364716 Question Type: MC&)tion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let fix) be an even function with period 2@ x) be integrable on every interval. If

&«

P g(-’f)Z f[f]df fﬁ*.‘;. Uﬁ@ﬁjﬁ fix) ;JJ.-L_'-;;,IELL;I:‘T_..E‘FJL *i;,.}:gﬂ fix) _ﬁ)j}

E(I)ij{f]dr, then g(x + 2) =
0

glx+2)=
Options:
g(x) g(2)
1
g(x) + g(2)
2.
g(x)



Question Number : 77 Question Id : 7512364717 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1
Let [x] be greatest integer function. Then j[,w 2[ x+ 2[1]]] dx =
-1

[ ~a * + e
J[x+2lx+2lx]]]de= e o™ Ginteger) 2 7 KN S/
1

Options:
0
1.
-5
z.
—F
=3
10
4,

Question Number : 78 Question Id : 7512364718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If k and [ respectively are the order and degree of the differential equation whose
: G & i p 2 )
general solution represents the family of circles of constant radius, then k° + [* =
‘, HL"-“:"" -l

i s I ot - i L e wr i 5 T |'§
CUlA okl sl ls 2422 ul'i::‘ 10 "ol 0 INA0 A a AL  8 k

-

2 - g | ol B,
’{.-2 I E‘; s -“" Pl ’.A'..J’II.‘,I-'.-'L_ L‘
Options:

2



2
8
3
10
4

Question Number : 79 Question Id : 7512364719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The solution of the differential equation dTJ = 1—-cos(y—x)cot(y—x) is
ax '
dy . 7.
. S TL =] Szos(y—x)cot(y—x) el 2
[TA

Options:

xtan (y—x)=c

1.

x=tan (y—x) +c
3

X=%ee (y—x) e
3

x+sec(y—=x)=c
4

Question Number : 80 Question Id : 7512364720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The general solution of the differential equation(ysin .t'+y]% —cos’x=0
X

5 dav 2 (o e
- S (ysumﬂ,-*]ﬁ—tns‘x: 0 =lola(d P
Fay

Options:



‘1-'3 G ) e e

1.
y=1l+smx+c
2
y2=2x-2sinx+¢
3.
y=2x+2c08x+c
4

Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 7512364721 Question Types M CQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertica

Albert Einstein was conferred witlih¢ Nobel Prize in physics for his work on:

I.-"::' I,‘ _ ;I P" rHH [ _hb J.-"" l, ‘I/'.-J_,I I:T“
-.r||.._.r.' l:_/.' L‘h" L" u'!uh—f\.}', l——-"_--’ﬂ._., hfl.-" '....-' U-‘f

-

Options:

Special theory of relativity

I8 g ¥

=3 ol A5

Bﬂse-Einsteiu statistics

L L.-r L" (PL



Photoelectric effect

Pt A Bt oa F £ B
(2B Ay 9) A1 007

3
General relativity
b5

4

Question Number : 82 Question Id : 7512364722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A quantity z. to be estimated has a dependency on the variables a. b and ¢ as

= = ab’*c2. The percentage of error in the measurementaf a. b and c are respectively
2.1%, 1.3% and 2.2%. The percentage of error in th&y€asurement of = would then

be
s’-f |'f 7 A I'{ ‘5}'7 =1 i .':‘ e % oy - i
Jebenstbeacz=ab’c 2 e L UAINAZ ¢ s b ca e tBF KUl 7 L)
TI AT | » '5“: 3 “.a F " i N .l f g | -
»FOEB bl kU 2 7 2200N\71.3% 2.1% Al as SE B S w2
P
_Ex
Options:
5.6%
1.
1.6%
3
1.0%
3
9.1%
4
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The nature of graph drawn for a freely falling body with time on the x-axis and speed
on the y-axis 1s (Assuming initial speed to be zero)

Options:
a straight line with positive y-axis intercept.

bt s ok B -
N St Y s s

1
a straight line passing through origin.
yilbsZ e s 3 ok
z
a parabola.
|l A o] .__,le
3 3
a straight line parallel to y-axis with positive X-axis intercept.
? & F . o waNE T
_,f:’-.‘f,b ..:.-,;*.L.;f Xy b ba-o WV 2y
4
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A particle A moves along the line v = 30 m with a constant velocity v parallel to
x-axis. At the moment particle A passes the y-axis. a particle B starts from origin
with zero initial speed and a constant acceleration @ = 0.40 m/sec”. The angle between
a and y-axis 1s 60°. If particles A and B collide after sometime. then the value of |v|

will be

-

| Y Il-"' I---"' P I_,..--' - I_.-d" - = " & " -
A UeE ’L.;.L;f:r,?‘,:,alr‘r_.gfx,-zﬁ'L-f_. v ;Lbup't_f/'f}’ =30 BLIA ik

ry = - ": s J.-v"h_ o - ‘|§
..".r'i.-zﬁ'L*L.i,Lf"uWu d =040 m/sec® oLLOLE (e wa'Bu;l Dkl Pl e
il 3 :.
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‘ R ; . &
A ball moves Dne—fourth{z ]of a circle of radius R in time T. Let v, and v, be

vy

magnitudes of mean speed and mean velocity vector. The ratio o will be
2
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A 4 kg object has a velocity(3.0 ] m/s at sm@tam. Eight seconds later. its velocity

18 (S.Df + IU.D}) m/s . Assuming that the @ljje<t 1s subjected to a constant net force. the

magnitude of the force is @?*

- (8.{)f+l(}.0_f) m/s iﬂ&@.{_ﬁfﬁi;f{ (3.(];:] m..-'s{;::ﬂfbdggrdfﬁ'..ﬂgldbr'if[xﬁl

Options:
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SingleLine Qu&stibn Option : No Option Orientation : Vertical
A block of mass 10 ke. mitially at rest. makes a downward motion on 45° mclined

plane. Then the distance travelled by the block after 2 seconds 1s
and g= 10 ms—2)

(Assume the coefficient of kinetic friction to be 0.3
o - Iﬁ
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Conservative forces are defined as the forces for which.

.i.:.ur_.t‘bfu e ¥ 'f,_,u-"_ﬂ;,_,urv;l

Options:

Work done depeuds only on the initial and final positions.

i
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Work done depends on the initial and final positions and also on the path
taken.
o 2 -
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Work done depends only on the path taken.
o e e
=2 Vg 17T
3
Work done depends only on the initséi position.
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A rocket motor consumes 100 kg of fuel per second. exhausting it with a speed of 5 knv's.

The speed of the rocket when 1its mass 1s reduced to | 2 ﬂ'h of 1ts initial mass. 18

(Assume mitial speed to be zero and ignore gravitational and viscous forces)
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Ball A of mass 50 gm and speed 10 nv/'s collidéswyith ball B of mass 10 gm and speed
15 m/s travelling in opposite direction with gach other. Determine the final speed of

ball B if the coefficient of restitutionsis
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A solid sphere of mass 5 kg rolls on a plane surface. Find its kinetic energy at an
mstant when its centre moves with speed 4 m/s
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A body of mass 0.3 kg hangs by a spring with a force constant of 50 N/m. The
amplitude of oscillations is damped and reaches% of its original value in about 100

oscillations. If @ and o' are the angular frequencies of undamped and damped

; ; : - .
oscillations respectively. then percentage of [—] 1S
)
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If a planet of mass 6.4 » 10> kg can be compressed into a sphere such that the
escape velocity from its surface is 8 < 10* m/s. then what should be the radius of the
sphere?
(Let G = 6.6 * 10711 Nm? kg2)

- - For i = & et ; oo Ij e .
;Lbu;l,z’a.fujl,' U slol AU 520 (W | | P o L*.::.ﬂ.:l’lng 6.4 x 1023/
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Options:

40.4 km

13.2 km

20.4 km

6.8 km

Question Number : 94 Question Id : 7512364734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A horizontal aluminium rod of diameter 4 cm projects 6 cm from a wall. An object of
mass 400 n kg 1s suspended from the end of the rod. The shear modulus of
aluminium is 3 » 101° N/m?. The vertical deflection of the end of the rod is

(Let g= 10 m/s?)

g P § & a8k gt : W
= 400 m kg :;.;./fi.L,Lb'*_"-uxu‘d’;{;;;bf’ﬁb’f' 76 e MU LISl PS4
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&
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z
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A water tank kept on the ground has an orifice of 2 @im‘diameter on the vertical side.
What 1s the minmimum height of the water above the grifice for which the output flow

of water is found to be turbulent? (Assume g~ 18 m/s?, p ... = 10° kg/m?.

viscosity = 1 centi poise)
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A copper ball of radius 3.0 mm falls in an oil tank of viscosity 1 kg/m-s. Then. the
terminal velocity of the copper ball will be (Density of oil = 1.5 x 103 kg/m3. Density
of Copper =9 » 10° kg/m?® and g = 10 m/s?)
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% = s

oo |""o

(g=10 nv/s? 219 x 103 ke/m? = =2 (Lt @S x 103 ke/m? = =20 EUS)

Options:
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>
15 % 102 m/s
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The wavelength of the radiation emitted by a black body is 1 mm and the Wien’s
constant is 3 »x 10~ m-K. Then the temperature of the black body will be

[, # i T g -
< 3 x 103 111-K,_;vaj 2811 mm U5 +€ (radiation) & érulﬁ;xgw;.( ':er....y
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1
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2.
300 K
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3000 K
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A hot body placed m air cools down to a lowey teniperature. The rate of decrease of
temperature is proportional to temperature didference from the surrounding. The body
loses 60% and 80% of maximum heat it dan joose in time r,; and ¢, respectively. The
ratio 7,/t, will be :
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A Carnot engine with efficiency n operates between two heat reservoirs with
temperatures T, and T, where T, > T,. If only T, 1s changed by 0.4%. the change in
efficiency is An,. whereas if only T, 1s changed by 0.2%. the efficiency is changed

by An,. The ratio :‘i 1s approximately
1 2
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An ideal gas in a closed container is heated so that the final rms speed of the gas
particles increases by 2 times the initial rms speed. If the initial gas temperature is

27 °C. then the final temperature of the ideal gas is

ey
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Consider two tuning forks with natural frequency 250 Hz. One is moving away and
another 1s moving towards a stationary observer at same speed. If the observer hears
beats of frequency 5 Hz. then the speed of the tuning fork is (Given speed of sound
wave 15 350 m/s)
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A drone fitted with siren 1s flying directly away from the @fone operator and towards a distant
building at a speed of 15 m/s. The siren prodydes sound of frequency 780 Hz. What 1s
the frequency that the operator hears in the(echd reflected from the building.

[Speed of sound is 340 nv/s]
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A point object ‘O’ 1s placed on the axis of a cylindrical piece of glass of refractive
index 1.6 as shown in the figure. One surface of the glass piece is convex with radius
of curvature 3 mm. The point appeared to be at 5 mm on the axis when viewed along
the axis and from right side of convex surface. The distance of the point object from

the convex surface 1s
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The limit of resolution of a telescope is 2.5 * 10~ radians. If the telescope is used to
detect light of wavelength 500 nm coming from a star, the diameter of the objective

lens used by the telescope 1s:

= : - -
J#G#500 nmh i Te o L o a 24025 < 107 ezl fmk]
—bul e G‘#L st JE I s e l* E'J - IQ.L. =AESEL

Options:

244 cm

258 cm

264 cm
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A non-conducting solid sphere has radius R and uniform charge density. A spherical
cavity of radius R/4 1s hollowed out of the sphere. The distance between center of
sphere and center of cavity is % . If the charge of the sphere 1s Q after the creation
of the cavity and the magnitude of electric field at the center of the cavity is

E=K

Q—ﬁ . determine the approximate value of K
dne R”
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A metal plate of thickness 2 mm and area 36 = cm? is slid into a parallel plate
capacitor of plate spacing 6 mm and area 36 = cm?. The metal plate is at a distance

3 mm from one of the plates. What is the capacitance of this arrangement?

Let =9x10"Nm*C *
dne,
2ok S5 15 336 mem? 66 mm L19ek (or LT Y36 mem? Lo dEs 2 mm
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For the circuit shown in the figure. calculate the resistance between the points
A and B.
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If the resistances are chosen for the circuit shown in figure in such a way that no
current flows through the battery with emf E,. the voltage V, across R, and the
current I, flowing through R, are respectively.
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A semi circular loop of radius 30 cm wire carries current 6 A. An uniform magnetic
field 0.5 T 1s present perpendicular to the plane of the loop. What is the magnitude of

force exerted on the wire.
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A dielectric circular disk of radius R carries a uniform surface charge density o. If 1t
rotates about its axis with angular velocity o. the magnetic field at the centre of disk
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The earth’s magnetic field at the geometric poles i5,/40x107° T. The magnitude of the
field at a point on earth’s surface where the radius yekeS an angle 6 with the axis of

earth’s assumed magnetic dipole is 5 * 10T. Zhe 1hagnitude of 6 in degrees is

- _.A“b - * S ol . = & f-' { . .1| b
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Consider a current in a circuit falls from 6.0 A to 1.0 A in 0.2 s. If an average emf of
150 V is induced by the circuit, then the self inductance of the circuit 1s:
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Single Line Question Option : No Option Orientation : Vertical
A series LCR circuit with L =0.5 H and R = 10 Q 1s connected to an ac supply with

. 150 . y
rms voltage and frequency equal to 200 V and — Hz respectively. The magnitude

of capacitance is varied so that current amplitude i the circuit becomes maximum.

The rms voltage difference across the inductor 1s
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The magnetic field of an Electromagnetic wave olfgys/the relation in a certain region
1s B=10"12sin(5 = 106 ) T. where t is the tim€, Then. the induced emf. in a 300-turn

coil of area 20 cm? oriented perpendicular e field is
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The wavelength of a charged particle of mass 8 x 10! kg. charge 1.6 x107° C and

kinetic energy 3 keV will be (Leth=6.4 x 1034 J.s.)

- 1 - I""__ ,""ﬂ ) = I.a-"” e
OUYO70 3 keV #iluld 1.6 X109 C = 8 x 1031 kg
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Single Line Question Option : No Option Orienvation : Vertical

Let hp and 2, be the longest wavelengths observed in the Paschen & Lyman series

respectively. Choose the correct option:

-

"?HL II-‘U’J"

b
-

| 7 v N - Ili = E,' 3 |& .
—_— ) e "—-dl-'u;j f«-[«’-" Aop '-"_.:'J"Lu \.Ef. /- l..-rtﬂ ”f"ll"f-‘; e LT V"UHJ'I
':1 I I q | L:;

Options:




M.
o
15 < S <16
A
Z
30 < }"—P <32
4. -

Question Number : 117 Question Id : 7512364757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A radioactive nucleus can decay in two different procgsses with half life 0.7 hr. and
0.3 hr. The effective average life of the nucleus in muitites approximately 1s
(Letln2=0.7)

i e 8 % - 5 | woo - 1 oy b 4 ? 7 r""'%{' w1
Ot Ui J1s 0.3 hr #10.7A0NL L 22 L Uy 1 B U I U s = a2 B0
el ‘_+ § < ':ﬂ o :. &
(e In2= U.?.’i{ XN/ )- S L AU e bl oy
Options:
14
1.
18
2.
24
3.
26
4.

Question Number : 118 Question Id : 7512364758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Assertion (A) : Si1and GaAs are the preferred materials for solar cells.

Reason (R) : Both these materials have energy band gaps much below the energy
level corresponding to the maximum solar irradiance in the solar
spectrum.

~
P CIUSE LSS GaAsaisi (A)SH

il - L. -~ F.
o ) T T S S T T o (ol oo s T e ; :
i+L£u’¢;{;€uLf:dJ{;Vb~'g a:y;..&.!k;u{rffu o iz (SL1s e ~ L) sl -(R).;_,;l'-’*_:

The correct answer is
e

Options:

(A) 1s correct but (R) 1s incorrect.

- P
- HR) 7T (A)
1.
Both (A) and (R) are correct and (Rads.the correct explanation of (A).
i_...-?a.ésu L_L A)« (R)ﬂf._, e iR)I(A)
2,
Both (A) and (R) are correct but (RJ 1s not the correct explanation of (A).
~—-u--->L-u % ' (R)L;u, ,_J:’**(R);,al{%}
=2
Both (A) and (R) are incorrect.
G UA(R)4I(A)
4,

Question Number : 119 Question Id : 7512364759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The truth table of a logic gate i1s given below. Then identify the gate

Input Output
A B X
0 0 1
0 1 1
1 0 1
1 1 0
Options:
NOT gate
< NOT
1
OR gate
~J OR
5
AND gate
~f AND
3
NAND gate
2d NAND
4.

Question Number : 120 Question Id : 7512364760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A transmitting antenna has a height 20 m. What will be the height of receiving
antenna. if the maximum distance between them for satisfactory communication in
line-of-sight (LOS) mode 1s 40 km? (The earth radius 1s 6400 km)

g = b oo £ it . A i o
..*.KLf_J' I',JLf* v_.,,f-ul Ll Qg t,f“zla.&'drﬁc;.lﬂ m de’..”;_:‘ kel p’”ﬁ;...y

(_._._"-#,55:5/6400 B _sIK L) ?,ﬁ/.‘..:gf—‘r[]ﬁGg;&ja.a_:_lkjé_gu ,,,_,[,M'L'lv FUri4(LOS)

Options:
25m
1.
30 m
2.
60 m
>,
45 m
4.
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 7512364761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum number of electrons that can have the set of quantum numbers n = 4,

|
m; =0, and m = 5 1s

1 by e
| | i . L] -

ToxUsldaslieasli 'r"*ULn_.._.y;‘r’_, me=5 »m=0cn=4sLel’ly
Options:

-

)



2,
N
3
6
4,

Question Number : 122 Question Id : 7512364762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following pairs has the identical e/m value?

R b _,-l/ - .-
- JbEa elm LIS e U= 30

b
Options:

An o-particle and deuterium ion

ik L /: i o
y;ll’f*sﬂa"l,‘.j.!ljv.fha -#L |
- - ) e

1
A proton and neutron
Ol *:l::{_‘ ..g!
2
An electron and y-rays
e s
UI': LF"-- ':l-'r .-';.IC,”;’.’:: I._.,k l
3
A proton and deuterium ion
Ay i 'u,,u o
4 i

Question Number : 123 Question 1d : 7512364763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The reason for a cation to be smaller than ifs parent atom 1s

r -
- i
*

?.;.l:,'f:_;gd;_f --—-uw:-(" [) A w!,-"__[,—f__(caﬂﬂﬂ)u:i ¢



Options:

Repulsion between the electrons of outer orbit.
i
g J...r-'l”\_,' v"!.!ﬁ—--;_,.-' /‘('f_.,.f',-ul,_,

L.
Increased electrostatic attractiml between nucleus and electrons.
lwlu._- #uvﬁ 'UVEL.# ‘f—-v F(f 1 ‘T-"{
2
Increase in the mass of the cation compared to neutral atom.
& L il o
*L:Jw....wu (cation) ™| f’"!J}’ .:
3
Change in The number of pr omns of cation compated to neutral atom.
L:‘ .H"L‘,.-ﬂ I.J'\J Lf\./ LJ»‘-(LHT]DII}V Lf *EL—-I = U|-":»l'.:-;
4.

Question Number : 124 Question Id : 7512364764 Question Types MC@ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arrange the following in the decreasingeider of radius:

o
-

dc;:._,,.,_.p .fgfu-’f‘ /b’_x-d' 81N

S5 P (T, €%, Ar Kt
Options:

P> S >Cl > Ar>K > CaZt

1.

Cl >P >8> Ar> Kt = Ca?t
2.

Az P80l Eat et
i

Kratar sl 8 5P 5 AT



Question Number : 125 Question Id : 7512364765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following compounds has the highest dipole moment (D)?

-

-~

3 . 1 | { ,.LI';'-! . ) |". A - .-
. & vOL(D)er S plic orUner AU e Uns .,_/t KOV
Options:
HBr
g
CH,COCH,
i
H,S
3.
CcocCl,
4,

Question Number : 126 Question Id : 7512364766 Question Tyfe: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertica



Match the following.

A)
B)
©)
D)

List-1

(Hybridisation)
spid

sp3d?

dsp?

dsp3

The correct match 1s

e IR )
W

Options:

1.

A
IV

B C
II I
B <
¥ I
B C
vV 1

H O

List-1I
(Compound/ion)
) [PtCl,]*
II)  SFK
1) BCl,
IV) PCl
V) (I
1 RO, O
(i) Q\’
[PtC1,]* q’

({/?p L. @V

CIF,

&

SE

&G
I
(I

Vv

(F51441)
sp3d
sp3d?2
dsp2
dsp3

(A
(B
i
(D



A B B D
I H N ¥

Question Number : 127 Question Id : 7512364767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The nitrogen gas pressure inside a container of volume 2.6 cm?® is 2.3 atm at 27°C.
The approximate number of moles of nitrogen present in the container 1s:

L TRt mr ) - 2.3 atmy 4/ dy"?ﬁf'y* 1 ”ff A lall r*’..xl'r_. jZ 6 cm?

i

2l Jf o (moles) .,,'.a‘ L

[R=0.0821 L atm mol~! K]
Options:

4% 1073

L7 10+

4% 107

x 10~4

Question Number : 128 Question Id : 7512364768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements is NOT correct regarding kinetic theory of Eases‘?

|_)._,..-r
“_'-,"ugbL ':.__U..,_f' TOPLY, r_.,_.f/‘;_,,/”_.,_,r

Options:

Gases are considered as point masses

7

.:__.-'

i._.L"I.?LJz?‘l_, L_.wlg;:r -



Kinetic energy of gas molecules increases with temperature

e § gL 7o Ot IR Py
22
Total energy of molecules before and after the collisions is different
™ £ -1 ye _fl_.r' [ & y | -
sl lﬁ_ilr‘*'glt ':'._,-“"'l_: JL 'L,,T.._ﬂ.,r:'r_“"; e
3
The distribution of molecular speed of a gas remains constant at a particular
temperature
- - "'H | _...- e
p - ,' -
- -_'- L}.!’: gLf:; — l,?,-.:-”._f.!uﬁ“"ﬂ;n.* 'f‘"‘u Iy’.-" \__.'r' e L_.rr_vl (5
4.

Question Number : 129 Question Id ;: 7512364769 Question Type: MC® Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A spherical ball of radius 7 cm contains §6 W% iron. Find out the number of moles of
1ron present approximately in the ball2 (%= 1.4 g cm=3: atomic mass = 56 g mol1)

I

i ¢ i | ", e ik
r*;lwpw e ol f__.m?yu;w;, i_,;m;'%uﬂm_,..au YA B3 (8T

(d=14gcem3 J/“: =56 gmol-1)

Options:
15.1

1

20.1
2.

251
=3

381



Question Number : 130 Question Id : 7512364770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

One third liter of x M K,Cr,0; 1s required to completely oxidize 2 L of 0. 1 M
ferrous ammonium sulphate in acid medinm. What 1s x ?

-

-~ = .| - . ® " o *
(L x MK,Cr,0, & L (oxidize) af VUl dl 22808 12 Seibri 701 M
‘ i B = k I.-"'b ‘1’ -
Y x Ul ...d_,""fn-"-u'.!;‘ﬁu/.-"fj Oy
Options:
0.03
1=
0.1
2.
0.2
=3
0.5
4,

Question Number : 131 Question Id : 7512364771 Questigh Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientatigh /Vertical

Enthalpy change for freezing o4 of water at 1 bar and 0 °C 1s 334 J. Calculate the
mternal energy change in J whea 1 g of water 1s converted into ice?

1ge2.c 3347 i (E]Hhﬂlpy)uf:;.u r;,:LS. _JM¢ A8 o0 (ban) 1 F3L1 g

-l-

.,'; o i ety - e H *'I.

Options:

205

fsd
)
i



668

Question Number : 132 Question Id : 7512364772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

: . : a.
For a chemical reaction, the standard Gibbs energy change. AG ~ is —7.64 x10*J mol-!.

What is the value of equilibrium constant (K)?

= - -
e h.,.- - ~ b I

J.Adv-...a' :_.V;Lu;, v—7.64 x10* ] mol-' AG° u*-l" Sels > u;Lzm;._.u

-l (K)

Options:

K=1
1.

K> 1
B

K<l
3

K=0
4.

Question Number : 133 Question Id : 7512364773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

| Y14
List-1
(I-=-/)
(Acid) / (27)

OH
e
COOH
" ©
C) HCIO

D) CH,;COOH

List-11
(1 .= )
(Ka)
I) 1 = 10713
IT) 3.0 lﬂ‘Bq
m) 1.0 Xﬂ&]

IV) Qgé/x 10>

&

The correct match 1s / .;;.45._...#;;

Options:
A B C
L1 & H
A B C
I Vv II
&
A B £
. I IV I
A B |
I v Vv

D
ET

L7855 10



Question Number : 134 Question Id : 7512364774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The heat of combustion (kJ mol-!) is highest for

=

. | ~ o r o "J.'.
-Orbie e (kI mol!) (/0

Options:

H,(g)
1.

H,(1)
2.
LPG

>,

CH,(g)
4,

Question Number : 135 Question Id : 7512364775 Qdesticn Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientationd V4rtical

What 1s the bonding nature Ai’LiC1 bond?

-~ -~ &
rr'

| e - ﬁ - .
fo JurelOUx UnJk LiCl
Options:

Pure 1onic

A

-
VIL v

-
|

Pure covalent

"_j £ | e
L}JJH.E;’FU"LL?



Coordinate bond

. ad
-....-u-*-'il—r J"J'!

5
Tonic and covalent
;r_‘)_gf:;j[d_il

4,

Question Number : 136 Question Id : 7512364776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements is/are correct for group 13 elements?
a. Al reacts with dil HCI to liberate H, gas
b. Al reacts with conc HNO; to liberate H, gas
o Boron reacts with only acids to liberate H, gas
Anhydrous AICI, reacts with moisture to libérate’H, gas

& = g
-'l..-r*l..-r‘h-"'"—' /lu ".FVF:UP YL C-;"'?L"r’_.l‘! - ¥d

L

e g l.'t"l T‘J L; r.: Hz L—.-"Ju L’“J.-:;L'L HC] u'ﬂJA.l .3.

o, :_,;Ln_,, Hz LS JeF L HNO, Al b

-.-?_ hr".)i,:}.-'ln;ur.: H |..fq—- UWﬁLL—V Jl—-"ﬁul..-"j .C

=) g i o N0 Y i b ot
kPRt LISeA L e AICL U0l d
Options:
b.c.d

1.

a.b.d
2,

Wl
<3

a
4,

Question Number : 137 Question Id : 7512364777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If one wants to make methanol out of synthesis gas. what should be the ratio of the
gaseous components in the synthesis gas?

& = “("ﬁ_ F Ff & a4 A s i - . - '? - -
e bl Ut U S S Dt e It L i

Options:
1:2
1
11
2.
1:3
=,

O
3:1 (I/Q\'
4 &

Question Number : 138 Question Id : 7512364778 Question T @CQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertic

The irritant red haze in traffic and co d places is due to

&

&% > b P /Jﬂ C /a;-ﬁ;ﬁﬁ:‘ﬁ; L Lﬁvi* '._.@ 7

Options:
. 8
1.
03
i

SOy (oxides of sulphur)

A

ITL



NOy, (oxides of nitrogen)

.-l"-p'..-r"'

Question Number : 139 Question Id : 7512364779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[dentify the atoms or groups from the following that exhibit —R effect and +R effect
when present on benzene ring:

Ll r’.ﬁ ; - ~ e = & i &
s st TR sz —R,r;d_:f'::"uu...#;p: YEACW, J ;—'Lr'uu‘:f VA e s U 32

~OR. -NHCOR. —CN, -X. -NO,. -NH,. >C =0

Options:
—R effect +R effect
~-NHCOR. -NO,, :}C‘ =0 —-CN, -OR, X, -NH,
]
—R effect +R effect
—OR. —CN. -NO,. :';C =} -NHCOR. -X. -NH,
—R effect +R effect
—CN. -NO,. -NH, —OR. -NHCOR. -X. :‘; C=0
z
—R effect +R effect
) —CN, -NO,, ; 3C=0 —-OR, -NHCOR, -X, -NH,

Question Number : 140 Question Id : 7512364780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



A hydrocarbon with molecular formula C4H, undergoes the following reactions:
A.  Decolourized molecular bromine.
B. Reacted with HBr.

C.  Addition of ozone and then cleavage of the ozonide by Zn/H,O gave the
product C,HO-.
Pl o P | ﬁé.i:—,;:gi;iﬁxiﬂi”:i.;-";L‘;,EL*'L*C4H5
- - R ,n/ i
L b BULAZLASS A
JUA-LHBr B
e e b w w ,""" [ f g ow g .
— — t'!fL,-HL?C4H602 Tt 0 ] 'n—-’& E'/_)_d:' t.!_}.!l...?;'.-f.-‘-«"_- ZI].-’HEO/'.{,J Wl{;,'ﬂ,-'!l g
Then. the structure of the hydrocarbon is
) &L‘dﬁrﬁ,;f;

Options:

\_\

1
CH,CH,C=CH
2.
=3
CH,
4,

Question Number : 141 Question Id : 7512364781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



The order of stability of below resonance structures is

(D

Options:

H>12> M
s,

5 5 H

HE = H & 1
=,

- ] -
4,

e T S
Ay} fol £ ol PANCS |

|’ti;f' |F’."" b

@
NH,

(11I)

Question Number : 142 Question 1d : 7512364752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Match the following.

List -1 List - II
A) ABCABC.. layers I) F-centres
B)  Thermodynamic Defects M)  X-ray diffraction
C) Farbenzenter [II) Vacancy defects
D)  Debye-Scherrer Method IV)  Semu conductors
V) Silver
Wy,
| T I .of
JrF (S/ABCABC.. (A
A6~ (@ Sl e7807 B
JSELF @ Zrab (C
BN\ 342085 @
Se (V

The correct answer 1s

s

Options:
A B £ D
. Vv III I II
A B C D
II IV II I
2.
A B & D
IV I Vv I
3
A B C D
3 IV I I Vv

Question Number : 143 Question Id : 7512364783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Calculate the depression in the freezing point of a solution containing
0.1 g of K; [Fe(CN)] mn 100 g of H,0? (molecular weight of K;[Fe(CN).] =329:

K¢ = 1.86 K kg mol™)

ik #5 S
& 5 I":- - I|
7 Lf-'ur:_:‘ o laald u,““;

S i W gl |
[} -

(Ke=1.86 Kkgmol? 329 = s dUL-¢ [Fe(CN)IK; )

H,0r1/ 100 .+f [Fe(CN) ] K, 1/ 0.1

Options:

0

0.0226

0.226

Question Number : 144 Question Id : 7512364724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Oriefitadion : Vertical

A solution of 17.1 W% of sucrose (molar mass = 342 g mol™) is isotonic with a
x W% solution of oxalic acid (molar mass = 90 g mol™). Assume the degree of

dissociation of oxalic acid as 0.01. What is x ?

27 e Fd - A e i 'Fq - - #
(mol™ ¢/ 90 = = Lile) 22 (LT (mol 1/ 342 = =0 U )JF L 597 17.1 W%
2 - - = e AT & ﬁj" :;; I;;' - ) i -~ ;e
Thrrlf x 92 0.01 2060wl O3 AN S S/ Vel i L JF xw% L

Options:



4.41

0.90

Question Number : 145 Question Id : 7512364785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the systems having liquid-solid interface, (a) copper wire in silver nitrate
solution and (b) silver wire in copper sulphate solution.
Predict which interface will show spontaneous reaction if

E. 2 e, =0-34V and EAE'-"AE =0.80V ?

JFL3 K (b) 6ot UFer Pl (a) - Sy wiujs:w;u"big-fﬁrvrﬁ.ejL
ol 07
*...;;.L")::lk:u"‘;;-dﬁqul IO s

((éEAS g =080V 31 B, =0.34V

Options @
Coppel - Silver nitrate mtelfac

'f.-’i_,»/f;;__bl’___,r @

1 &
Silver - Copper sulphate interface
g )
There will be no spontaneous reaction
P N s %4
B 830
3.

Both interfaces will give spontaneous reaction

mi"_.vrffwuﬁ,ru)!’u"f'u' L3



Question Number : 146 Question Id : 7512364786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
The decomposition of O; (g) follows first order kinetics and 1s given by:
0;(g) >0,(g) +0(g)
The rate constant for this reaction is 1.0<10= s7L. The initial pressure of O; (g) is
100 atm. What will be the partial pressure (in atm) of Oz. O,. O respectively after
38.38 minutes?

ol . . u?.,'ff. oot o W1
~ - UHdennl O UM O L 0en U5 C O3 (8)

-

O;(2) > 0,(g)+0(g)

2 233838 — w100 atm 5 (LI O; (g) -

¥ ]

Options:
5. 58
1%
10, 90. 0
2.
10. 90. 90
10. 0. 90
4,

Question Number : 147 Question Id : 7512364787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Identify the correct statements from the following.

a. A closed vessel containing 90% CO, and 10% O, is an aerosol.
b. Milk is an emulsion.
S Smoke 1s an aerosol.
d. Peptisation 1s a method of purification of colloidal solution.
& Ultrafilteration 1s a method of purification of colloidal solution.
’-f = I/ (] - - -
- Gobpelberna ._,t LIOY)
i - - - . # P b IJ".-" 1 b - r
ce b LI Bl fe 0, 10%.1 0 T3502690% a
< (emulsion) sz 154kl b
- JFJ{'».JQJU?} e
- N - -~ - r | & lf'
- peptisation 3 AL A Ler.rL’";_f.f-‘ d
el o o o
A - (P by e
Options:
d. BT
1
a, ¢, d
5
beg &
3.
& B
4,

Question Number : 148 Question 1d : 7512364788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Statement (A) : Mg can reduce Al,O; above 1350° C.
Statement (B): Al can reduce MgO below 1350° C.

e CESEE ALOy Mg peZonilie £ /5713500 - (A) Wl
*+§flﬁufMg0 <Al {;;J].?JJ{;.E,/@V 1350° 1 (B)Jk

The correct answer is
:.;;__',I;Z.:.x,u
Options:
Both (A) and (B) are wrong.
LU A(B)a(A)

N
(A) 1s correct, but (B) 1s wrong. (19

o -~
- HB)FT (A)

(A) 1s wrong, but (B) is correct. @
= -
....;;.E? {B}QVE.L;.AEiAI

; &«
2
Both (A) and (B) are cc-?%t.

u.ﬁ_é’h};}J(B]iﬂ[A}

4,

Question Number : 149 Question Id : 7512364789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Match the following :

,% 1T

List-1

( I-u:-*"ﬁ';,)

Acid

(2 5)
A) H,PO, 1)
B) H,P,0; II)
) H,;PO, 1I0)
D) H,P,0, V)

V)

The correct answer 1s

e 2 8
& -

Options:

A B & D

I I I IV
18

A B C D

’ II IV I I

A B G D
- I Y I Vv

o=
o
'®
»/

List - 11
(M=)

Reagents used for preparation
S i e I0EELE)
Red P, + alkali

White P, + alkali

PCL, : H.PO,

P,0s : H,0

H,P, ;)X



Question Number : 150 Question Id : 7512364790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

XeF, 1s square planar while XeF, has a distorted octahedral structure. What 1s the
correct explanation for this observation?

.i--\

& e -~ F""l -~
J-*’ o ::Jé XeF, ,..'__.-3;.;_'-5 E:/h.ngeF4

-

-.-n—-vu -"')L b—-ﬂ";J.uuq—-.ﬁL’Au --n—--"':}

Options:
Both molecules have one lone pair of electrons.

4-—J;h-klﬂl‘bvflfﬁhlur:-L“L !!.j

1
Both mﬂlecules have two lone pairs of electrons.
2ol PO i
o}
XeF, does not have any lone pair of eléctrons: XeF, has one lone pair of
electrons on Xe.
L “Ti £ r ‘?‘l- 1 J”. i, ¥ xr
,...l_'-,ff’:.ﬁﬂ!....k'é/g",gt‘; Xe e Xekg > ST IIEY, é’gl}{u. Xek,
3.
XeF, has two lone pairs of ciectrons on Xe: XeF . has one lone pair of
electrons on Xe.
s = £ r ey e r_ b _,_-1 i -
4
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Match the following.

List -1 List - IT
A)  Oxidation state of V i VOCI, I) 0
B)  Number of unpaired electrons in MnO,>~ ion By 1
C)  Number of unpaired electrons in [NiCl,]* ion Im 5
D)  This oxidation state is exhibited by all lanthanide ions V) 3
V)] 4
vlh 2
< Wig
| IO | OO
0 gl vetvoa, (A
O R, Wu@ AUtuyMnO2> (B
5 (I 2 ;@w; SN NICLE  (C
3 W e G QSN Ve eSS, O

4V Q((/

(VI @
The correct answer 1s @?‘

e
:

2

Options: &%



Question Number : 152 Question Id : 7512364792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The name of the compound ([ﬁE(NH.: ]u—‘ [Ag((?N)j D is

11 ([Ag(NHE)zJ[Ag(CN):]) o

dicyanoargentate (I) diammino (I) silver.

L]
|

s (1) 5% ur.([)_t; Al Lq_,'rl;?

[T

i
diamino silver dicyanate
2 L i
2,
diammine silver (I) dicvanoargentate (I)
Iy - e 3 { 5 1
2T L OB (Ml LIS
3.
silver diammminedicyano Argentate
TG T Paall 14,k
4
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Match the following.
List -1

Cl

B) Nyloné6. 6
C) HDP
D)  Melamine-formaldehyde

JeliBS (@

The correct answer 1s @{
e s /@

Options:
A B L D
IV III II I
1
A B &) D
II III IV I
2.
A B L D
] III I I IV
A B C D
I v I I

List -

II

I) Cross-linked network

IT) Elastomer

III) Fibre

IV)  Ziegler-Natta Catalyst

L

e sy
| P
—f|:=CH—CH2},, (A
Cl
HDP (C

%'Edjubﬁ*wf L“"f

(D



Question Number : 154 Question Id : 7512364794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Among the following B group vitamins. the deficiency of which one results in
convulsions.

- -, I’-.f' f’
,_?' ke "".
-#A——-L,E"‘Fu I-;_(' a—l--i—-vulvr ;—-UHVI}'“ L' "..f B'H" -}v.-ﬁ"

Options:
B
1 6
BIE
2.
B,
3.
B,
4,

Question Number : 155 Question Id : 7512364795 Qiesticn Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option OrientatiGas Vertical

Methacetin (4-methoxy-acetantiide) 1s ............ drug.
e ..{'Ufl_'gj S il._,,' F.4 ) ok
Options:
An antipyretic



An antiseptic

=
(G ED S
5
Disinfectant
ihd—y’{wl
4.

Question Number : 156 Question Id : 7512364796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct order of reactivity of the following haloarenes on treatment with
NaOH?

=) fd*;}b'gw;._m ur-* .;@L NaOHi;{ﬂﬁ?pf_}aﬁ

Cl Cl ﬁ& Cl
O,N NO, NO,
-
NO, NO, @ NO,

(a) (b v () (d)

)
Options: &%

e A S ds Pk

1,

4 % ¢ 584 % b
>

b > d > a s ¢
3



Question Number : 157 Question Id : 7512364797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the following reaction, the major products are

- o~ rect .-
1O ,_,,Iwb;f‘ e J LJJ‘UE LIOWS

HI

w
"

U\O

Options:

o Q
f<plEN»
ar
”

N\

&

I
H
H
[

/

O
I
O

9

Question Number : 158 Question Id ;: 7512364798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Identify the method that gives benzyl alcohol?

e eSS 2 S S S B A

Options:

@/G”fs ) CrO,CLCS,
2) Hy0™ '

CHO Hy O
O/ Pd—BaSO, N
: /\(19
CHO Cone.NaOH @Q
A

2 Q/?~
@ ,@; HCl .
Anhyd.AICI, /CuCl
4
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Statement (A ):Carboxylic acid can be obtained by the reaction of R — C =N with
@
H,O under mild reaction conditions.
e @
Statement (B ):Hydrolysis of R — C = N in alkaline aqueous medium givesR —COONa

and NH; as products.

-

_.-;;.El'i.gyf_,,-‘*"%r::.1luJ&£{';5£u*&£R_c =NAL HE L2208 (A) Yk
< " e ® # " -
....'_,;?'L._rfuwl.? NH; sl R —COONa LV’“JLUJEE.LR - C= N{_,-’:J:gﬁ ' fj' 1 (B) gk
The correct answer is
-—'- —‘-I-’-'?n:ﬂ"x'.ﬂ

Options:
Both (A) and (B) are correct.

M
,L,j.:*.mwu:ju(B};ﬂ{A} (\/Q

Both (A) and (B) are not correct. C)Q/
=i L,-i*&-ﬂ:;,)fﬂ(B'};ﬁ{A] @
2. v

(A) 1s correct, but (B) 1s n@jm'rect.

= J-T::.f.u (B 15-**’.5. = ufA)

3
(A) is not correct but (B) is correct.
= T
- =~3(B) -rJf:.L;.:,_,-"E..:.-ﬁts{A}
4,

Question Number : 160 Question Id : 7512364800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Benzaldehyde can be converted to benzonitrile by treatment with

- i £ B - it = - .
,-;_U:Lgyuf{u.ut ',?'L'ﬁ;ﬂ,):_.}.__«;(fﬁl,‘i ............... f%LJﬁJl;n



Options:

NH,;

NH; followed by reaction with C HsSO,(l1
JUA L CHS0,Cl 2L 14 NH,

NH,OH followed by reaction with acetic anhydride
SOA LN Bl L 14 NH,0H

NH,OH



